FUNCTIONS
A)  "GetB51"
{Compute 5-1 buy}

INPUT:

     H0(NUMERIC),
{H}

     H1(NUMERIC),
{H[1]}

     C0(NUMERIC);
{C}

IF (H0 < H1) AND (2 * H0 - H1 < C0) THEN


{5-1 buy exists} 


GetB51 = 2 * H0 - H1

ELSE


GetB51 = 0;

B)  "GetB52"
{Compute 5-2 buy}

INPUT:

     L0(NUMERIC),
{L}

     L1(NUMERIC);
{L[1]}

IF (L0 < L1) THEN


{5-2 buy exists} 


GetB52 = 2 * L0 - L1

ELSE


GetB52 = 0;

C)  "GetB52E"
{Compute the extended 52.}

INPUT: L1(NUMERIC), L2(NUMERIC);

IF (L1 < L2) THEN



{5-2 buy exists} 



GetB52E = 3 * L1 - 2 * L2


ELSE



GetB52E = 0;

D)  "GetB53"
{Compute 5-3 buy}

INPUT:

     L0(NUMERIC),
{L}

     L1(NUMERIC),
{L[1]}

     C0(NUMERIC);
{C}

IF (L0 > L1) AND (2 * L0 - L1 < C0) THEN


{5-3 buy exists} 


GetB53 = 2 * L0 - L1

ELSE


GetB53 = 0;

E)  "GetB59"
{Compute 5-9 buy}

INPUT:

     L0(NUMERIC),
{L}

     H1(NUMERIC);
{H[1]}

GetB59 = 2 * L0 - H1;

F)  "GetB59E"
{Compute extended 59 buy.}

INPUT: L1(NUMERIC), H2(NUMERIC);

GetB59E = 3 * L1 - 2 * H2;

G)  "GetH11"
{Compute 1-1 high}

INPUT:

     H0(NUMERIC),
{H}

     L0(NUMERIC),
{L}

     C0(NUMERIC);
{C}

GetH11 = 2 * ((H0 + L0 + C0) / 3) - L0;

H)  "GetL11"
{Compute 1-1 low}

INPUT:

     H0(NUMERIC),
{H}

     L0(NUMERIC),
{L}

     C0(NUMERIC);
{C}

GetL11 = 2 * ((H0 + L0 + C0) / 3) - H0;

I)  "GetB66"
{Compute 66 Buy}

INPUT: H0(NUMERIC), L0(NUMERIC), DPL2(NUMERIC);

IF (DPL2 < H0) AND (DPL2 > L0) THEN



{6-6 buy exists} 



GetB66 = 3 * L0 - 2 * DPL2

ELSE



GetB66 = 0;

J)  "GetB65"
{Compute 6-5 buy}

INPUT:

     H0(NUMERIC),
{H}

     L0(NUMERIC),
{L}

     C0(NUMERIC),
{C}

     DPL0(NUMERIC);
{DPL}

IF (H0 > DPL0) AND (DPL0 > L0)



AND(2 * DPL0 - L0 < C0) THEN


{6-5 buy exists} 


GetB65 = 2 * DPL0 - L0

ELSE


GetB65 = 0;

K)  "GetB61"{Compute 6-1 buy}
INPUT:

     H0(NUMERIC),
{H}

     L0(NUMERIC),
{L}

     C0(NUMERIC),
{C}

     DPL0(NUMERIC);
{DPL}

IF (2 * DPL0 - H0 < C0) AND DPL0 <= H0 AND DPL0 >= L0 THEN


{6-1 buy exists} 


GetB61 = 2 * DPL0 - H0

ELSE


GetB61 = 0;

L)  "GetMainChan"
{Plot main channel line.}

INPUT: DPL0(NUMERIC), DPL1(NUMERIC);

BEGIN


IF DPL0 >= DPL1 THEN



GetMainChan = DPL0 + 0.5 * (DPL0 - DPL1) ;


IF DPL0 < DPL1 THEN



GetMainChan = DPL0 - 0.5 * (DPL1 - DPL0) ;

END;

M)  "GetRedBd"
{Create a projected dot estimate}

INPUT: D110(NUMERIC), D111(NUMERIC), C0(NUMERIC);

BEGIN


GetRedBd = (D110 + D111 + C0) / 3;

END;

N)  "GetS51"
{Compute 5-1 sell}

INPUT:

     L0(NUMERIC),
{L}

     L1(NUMERIC),
{L[1]}

     C0(NUMERIC);
{C}

IF (L0 > L1) AND ((2 * L0 - L1) > C0) THEN


{5-1 sell exists} 


GetS51 = 2 * L0 - L1

ELSE


GetS51 = 0;

O)  "GetS52"
{Compute 5-2 sell}

INPUT:

     H0(NUMERIC),
{H}

     H1(NUMERIC);
{H[1]}

IF (H0 > H1)  THEN


{5-2 sell exists} 


GetS52 = 2 * H0 - H1

ELSE


GetS52 = 0;

P)  "GetS52E"
{Compute the extended 52 sell.}

INPUT: H1(NUMERIC), H2(NUMERIC);

IF (H1 > H2) THEN



{5-2 buy exists} 



GetS52E = 3 * H1 - 2 * H2


ELSE



GetS52E = 0;

Q)  "GetS53"
{Compute 5-1 buy}

INPUT:

     H0(NUMERIC),
{H}

     H1(NUMERIC),
{H[1]}

     C0(NUMERIC);
{C}

IF (H0 < H1) AND (2 * H0 - H1 > C0) THEN


{5-3 sell exists} 


GetS53 = 2 * H0 - H1

ELSE


GetS53 = 0;

R)  "GetS59"
{Compute 5-9 sell}

INPUT:

     H0(NUMERIC),
{H}

     L1(NUMERIC);
{L[1]}

GetS59 = 2 * H0 - L1;

S)  "GetS59E"
{Compute extended 59 sell.}

INPUT: H1(NUMERIC), L2(NUMERIC);

GetS59E = 3 * H1 - 2 * L2;

T)  "GetS61"
{Compute 6-1 sell}

INPUT:

     H0(NUMERIC),
{H}

     L0(NUMERIC),
{H}

     C0(NUMERIC),
{C}

     DPL0(NUMERIC);
{DPL}

IF (2 * DPL0 - L0 > C0) AND DPL0 >= L0 AND DPL0 <= H0 THEN


{6-1 sell exists} 


GetS61 = 2 * DPL0 - L0

ELSE


GetS61 = 0;

U)  "GetS65"
{Compute 6-1 sell}

INPUT:

     H0(NUMERIC),
{H}

     L0(NUMERIC),
{H}

     C0(NUMERIC),
{C}

     DPL0(NUMERIC);
{DPL}

IF (H0 > DPL0) AND (DPL0 > L0) 



AND (2 * DPL0 - H0 > C0) THEN


{6-5 sell exists} 


GetS65 = 2 * DPL0 - H0

ELSE


GetS65 = 0;

V)  "GetS66"
{Compute 66 Sell}

INPUT: H0(NUMERIC), L0(NUMERIC), DPL2(NUMERIC);

IF (DPL2 < H0) AND (DPL2 > L0) THEN



{6-6 sell exists} 



GetS66 = 3 * H0 - 2 * DPL2

ELSE



GetS66 = 0;

